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Umax = 230 VAC* 1.25 *1.35 = 388 VDC
Pmax = 388 VDC^2 / (6 *  6 * 27kOhm) = 
155mW (per 27k resistor)
Urmax = 388VDC / 6 = 64.7 VDC

This leads to:
--> 27kOhm (min. 0.33W / 120V)
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UDSmax  = -500V
ID = -10A
RDSon = 1.0R
UGSth = -2.0 ... -4.5V
T_op =  -55°C < Tj < 150°C

STF20N95K5

UDSmax  = 950V
ID = 17.5A
RDSon = <0.330R
UGSth = 3.0 ...5.0V
T_op =  -55°C < Tj < 150°C

STN1NK80Z

UDSmax  = 800V
ID = 1A
RDSon = <16R
UGSth = 3.0 ...4.5V
T_op =  -55°C < Tj < 150°C

GBU6M
IfmaxPeak = 175A
Ifrms = 6A
Urmax = 1000V
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Urrm = 400V
Io = 1A
Ifsm = 40A
trr = 85ns
T_op =  -65°C < Tj < 150°C

STTH512FP

Urrm = 1200V
If = 30A
Ifsm = 55A
trr = 48ns
T_op =  -55°C < Tj < 175°C

L3
20uH / 3AACPL-P480

tphl = 150 ... 350ns
tplh = 110 ... 350ns
If = 6 ... 10 mA
T_op =  -40°C < Tj < 100°C

ACS712ELCTR-05B-T

VCC = 5V
Imeas = -20 ... 20A
Sens =  185(+-5) mV/A
Total Error  = +-1.5%
T_op =  -40°C < Tj < 85°C
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IMPORTANT!

Place current sensor so that the 
current trough the freewheeling 
diode is included in the 
measurement!
Otherwise the supply current is 
measured, not the motor current
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